GENERAL SCIENCE - SAMPLE PEPER-38

381.The pH of a solution is 3 when the pH changes to 6 so the H+ ion concentration ?/fR&Y €l
T pH 3 BIcT g S8 pH 6 H Scof ST g ol H+ 3TIeT AigdT 8l SiTail 87

(a) Increases twice.
(b) Increases by three times.

(c) 100 times decreases.
(d) Decreases by 1000 times.
e pH is a measure of the acidity or basicity of a solution. It is defined as the negative
logarithum of the liquilfied Hydrogen ion concentration.
e If'the pH value of a solution is 3, the concentration of H+ ion will be 10-3 mol / liter.
Similarly, if the pH value of a solution is 6, the concentration of H+ ion will be 10-6
moles / liter, which will be 1000 times less than the first concentration.

o pH Tohdl BT T 3Tl AT &TRhT T AT & | S Gallehel §ISgIoTel T Higell &
ROTcHD TETUTh & & H TR fohar arar g

o Ife e ©YeT T pH AT 3 &, dF H+ 37 T HigdTl 10-3 mol/efieX 81| 34 9ehiR,
Tfe fodY Gl T pH AT 6 &, df H+ 311 &Y FigdT 10-6 Hrel/ollex graf, Sit ggel
|G & 1000 [T & grefr|

382. Which one of the following is NOT correctly matched? /=1t @&d 3 & it @7 T Wﬁ
el 67

(a) Penicillin - Alexander Fleming afafafere - 3reideist walfdeT

(b) Electric bulb —Thomas alva Edison /Selfdrees o - UTAH 3Tedr Ul

(c) Smallpox Vaccine — Edward Jenner /d<Ieh T EIeT - USds oo}

(d) Telephone — John Logie Baird/cellthleT - STl e SIS

e Inventions Inventors

Telephone — Graham Bell
Television- John Logie Baird
Penicillin - Alexander Fleming
Electric bulb- Thomas Alva Edison
Small Pox- Edward Jenner
Computer - Charles Babbage

O O O O O O

383. In which of the following tissue, cells are alive, elongated and irregular at the

corners?/fAFAfaf@a # O 5T Fas & RHAHT N, o) 3R Far W aHafAa e &
(a) Parenchyma [RERISHT
(b) Sclerenchyma/ﬁfﬂm
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(c) Aerenchyma /TGRS AT
(d) Collenchyma/aTeleTehTSHT

¢ In collenchyma tissue, the cells are alive, long and irregularly thickened at the ends.
o  FIAAPISHT Fcdeh H, HITAPIT Sifad, ofelt 3R B W 31Faf@a sg F A g &1

¢ Ground tissue in plants is made up of three types of simple permanent tissues:
parenchyma, collenchyma, and sclerenchyma.

o Gt 7 FTH S died TR & 3T TARY Fdehl H F1T 81T & RIS,

PlelehISHT R TFTRISHT|

384. Name the elements found in baking Powder./9 3T U138 F UTT ST aTel deal & ATH
ERIEN

(a) Sulphur, Hydrogen, Carbon and Oxygen /HeWhy, ET83ITeT, hTeleT 1R TSt

(b) Potassium, Sulphur and Oxygen/dTeTAITH, Hew 3R TS

(¢) Sodium, Hydrogen, Carbon and Oxygen /AT3TH, gI33IT, T 3R 3Tt

(d) Hydrogen, Potassium, Sulphur and Oxygen/gT83IsTeT, G T, e 3R TS

Baking Powder is sodium bicarbonates, which is NaHCO3.

385. What would be the molecular formula of calcium phosphate?/ah TR BIEHE I HTOTTAH

I T g

(a) Ca3 (PO4)2

(b) Ca (PO4)2

(c) Ca3 (PO4)3

(d) CaPO4

e The molecular formula of calcium phosphate is Ca3 (PO4)2. Calcium phosphate is used

for the treatment, control prevention, and improvement of conditions and symptoms of
diseases such as low blood calcium levels, osteoporosis, gastric acidity.

o  HTCRIIA BIEHT T HTUTTASH I Ca3 (PO4)2 &1 HIo/ATH BIEHT 13U et
TF HierIH TR, FTEcAaRIAT, e 3adr 3 e & 3R, fAI=or
UeheT 3R et 3R oatol & gur & forw f&har s g

386. Choose the correct sequence of electrical resistivity of metals.
T3 T T o TfeRIereRdT T TE shal Iei |

(a) Ag>Ni>Hg>W

(b) He>Ni>W>Ag

(c) Ag>W>Ni>Hg
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(d) Ag>W>Hg>Ni
e Resistivity is the property of a substance that resist the electric current by that substance.

o STCRItRAT fohdlT TeT o1 9 I[0T & it 38 YT G@RT faeg el &RT &l FieRIE &l &

387. s adevice by which two different photographs of the same object can be viewed
together./  Weh 3USOT § TS Heh G@RT Ueh &1 a&] T &F 3elaT-3eleT X Teh |1y @t
ST AHAT ¢ |

(a) Stereoscope /EERITERIT

(b) Spectroscope [EAFEIERIT

() Stroboscope/@iﬂwq

(d) Stethoscope/?%zﬂﬁﬁ'q

388. The members of phylum ...... are exclusively free-living marine animals. / BISclH &
HeE [V &9 & Facid @A drel HHAT SAeTa ¢

(a) Echinodermata /ﬁﬁgﬁa

(b) Arthropoda /3mfarsT

(c) Nematoda JTHATANST

(d) Mollusca/HATeTEhT

e Phylum Echinodermata and Ctenophora are exclusively marine.
e They are only found in sea water.

o TISelA STeISHeT 3N HEATBRT AT &7 & T E |
o Adhael GHA STel H 1 I1T ST &

389. In the modern periodic table, elements with atomic numbers 58 to 71 are called -
3megfoten 3Tacl AU 7 9TATO] shaTeh 58 § 71 cTeh aTel Tl i eheT STl & -

(a) inert gases /37fsha I

(b) halogen /gellotel

(c) Lanthanoids /ﬁ?)?-luTgé\'H

(d) Actinides /TfFeATSSH

¢ Elements with atomic numbers 58 to 71 in the modern periodic table are called
Lanthanoids series.

o 3MYfeieh e TRUN & RATI] HEAT 58 & 71 dTed dcal T AAAISS HWell gl STcl
gl
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390. Which of the following herbal medicine is used in treatment of Leucoderma?/ F«’JEI?BTFIS[ +
3R A eI f@d # & ford gelet gar &7 39T faham SI7eT 872

(a) Lukoskin / W

(b) Lukogen/ ?fﬁ??r

(c) Lukopasin / Fq\aﬁﬁa?r

(d) Lukotrepine/ quﬁ'gfﬁ?r

Leucoderma is a type of skin disease.

391. When the pH value increases from 7 to 14, it shows that-
319 pH AT 7 § S6aT 14 8T SATAT §, Y g ATar § -

(a) Decrease in H+ concentration

(b) Increase in OH- concentration

(¢) Increase in H+ concentration

(d) Decrease in OH- concentration

The pH value of a solution is a number that represents the acidity and basicity of that solution.

foRaiY ©YeT T pH AT Teh HEAT § S 3T °leT I 313a1aT 3R &TRIIdT Y ST ¢

392........... made the first observation on platinum as a catalyst -

......... 300 & F9 H Tolfeddd 9T Ugalr dalched T -
(a) Mendeleev /Hgolid

(b) Mosely /HIFelT

(c) Dobereiner /3ISRT81X

(d) Newland/m‘\ﬁ's'

e The German scientist Johann Ddberiner first observed platinum as a catalyst in 1823 AD.

o SIH AR SANEI SRR o Tgell IR 1823 5. H Tl feaTd &l 39k & &I H ¢@T|

393. What is the absolute refractive index of air‘?/EI'I'{_,r T EI'\USF 3T9d e FT &2

(a) 1.03
(b) 1.00003
(c) 1.003
(d) 1.0003

e If'the refraction of light occurs in a medium from vacuum, then the ratio of the sine of the
incidence angle and the sine of the angle of refraction is called the absolute refractive
index of that medium.

e Absolute refractive index of air— 1.0003



GENERAL SCIENCE - SAMPLE PEPER-38

e Absolute refractive index of water— 1.333
e Absolute refractive index of diamond— 2.417

o I YT T 3UddT aTd ¥ fondT ATETH 7 @Y1 &, aY 39T ST hr =37 3T
3dceT HIUT T ST T eI 3H HTEIH T [ATIET 3qdcielich hgellell o |

o aTY T fARYET H9aTIIeh- 1.0003

o STl T foIRUET 3M9dcisiieh- 1.333

o B T ST ITacielich- 2.417

394. Which is the outermost covering of the cell that separates the contents of the cell from its

external environment?/ SITRISRT T FEH STELT TGV ShisT AT § SIT PITADT ST JTHIT T
3 JTEL aTdATaRoT 3797 Hidl 872

(a) Plasma membrane/ TlToHT [STeell

(b) Organelles/ 379TY

(¢) Nerve cell/ T &Y

(d) Smooth muscle cell/ ey AT HifrnT

e The plasma membrane also called the cell membrane is the membrane found in all
cells that separates the interior of the cell from outside environment Plasma
membrane consists of a lipid bilayer that is semi-permeable.

e [t regulates the transport of materials entering and exiting the cell.

o TATTHT Breoll fol IR Biealr ot rgT SITaT &, Tt HIfAF131 & g 1=t areir
TSTeell & ST ITART S TR HTIT T STELT ATATAROT H 37797 Al g |

o TIToAT Secl # U fAfUS SSoRR glaT & S 3TY-UReT=T glaT & |

o IE RIS H YA o 31T I1gT Aarerar arelr IrAfNAT & gRagsT & FafRa
AT

395. Ribosomes make J TsEge JATT B |
(a) Fats/ ddT
(b) Lipids/ feifis
(c) Proteins/ HIEleT
(d) Starch/FeTT

e Ribosomes are a complex structure and are found in all living cells.
e They are also found in nucleus and mitochondria with the process of protein synthesis
Ribosomes are useful for protein formation from amino acid in body

o JSIAH U el T & AR Tt AT FfAp131 7 are ama £
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o I WET FIAYUT T Ufehar & 1 AfAF 3R ASpiesar & & grw s £l
TsarEE R F 3T vhas @ W RATor & fow 3uaeh aia €1

396. Diabetes is usually the result of: / H'E:],ﬂ'ea' 3THAAR TR ST IROTH 8T &
(a) Low insulin secretion / shH gﬂﬁ'ﬂ' arq

(b) Low thyroxine secretion / HéT ATIRNTFHT TG

(c) Low estrogen secretion / el TECISTeT HTd

(d) None of these / 319 & PIS el

397. Which of the following is a copper ore? /fAFATIRIT & & ieT AT dTST 3T &7

(a) Haematite/gHeISC
(b) Magnetite /HIsIcISe
(¢) Malachite/HeTTerIse
(d) Chromite/shIHTSE

Copper(Cu) - Malachite, Azurite, Cuprite, Bornite, Chalcopyrite.
Iron(Fe) - Haematite, Limonite, Magnetite, Siderite, Iron pyrite
Zinc(Zn) - Zinc blende, Zincite, Calamine

Sodium(Na) - Chile saltpetre, Trona, Borax, Common salt

398. Stratified squamous epithelium is present in:/(—di\lqu A viadfegd H’f\_{c‘( %’:
(a) Kidney /fargair

(b) Respiratory system /2T JUTTIT

(c) Esophagus /TERRITE

(d) Skin/cadr
e Stratified squamous epithelial cells are found in a number of organs, including the skin
epidermis and the thymus.
e Stratified squamous epithelium is found in — buccal cavity or oral cavity of mammals, the
inner lining of cheeks, lips, hard palate, tonsils, pharynx, oesophagus, anal canal, the
lining of the vagina, cornea of the eye.

o AU TFIAH SUehell RNV carell & UUSTAH R ASAT Algd S 371 7 a1$
ST gl

o TRIPd TFdAY TAATIIH TIT ST & - TATLTRET Y 7W I[6T AT FHW ITeT, IMmeit
1 AR TR, &1, HOR dIe], Sieael, FFeT, He=THOTTRT, I[eT g, Tlfal &l T,
37T T HifarT|
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399. What is the full form of MCB? /THEST T Pl Bl T §?

(a) Miniature Current Breaker
(b) Miniature Circuit Breaker
(¢) Mini Circuit Breaker
(d) Miniature Circuit Board
e MCB stands for Miniature Circuit Breaker. It automatically switched off electrical circuit
during any abnormal condition in the electrical network such as overload and short circuit
conditions.

o THH! T Aol ATHNTR Afthe 5o & | T6 [aegd deash & fandlt o 3rama=g
et SI9 3Maelts 3R ATE afdhe &1 Fufd & gRiet faegd afdhe T TaaTiad &9 4
§g X ST g

400. The correct increasing order of acidity of the oxide of Mn is -
Mn & 3TFHISS FT 31Fldl waﬁmgﬁw% -

(a) MnO < MnO2 < Mn207
(b) MnO2 > MnO > Mn207
(c) Mn207 > MnO2 > MnO
(d) MnO2 > Mn207 > MnO
e The correct increasing order of acidity of the oxide of Mn is MnO < MnO2 < Mn207

e Mn & HTFHTSS &I 3T T el 96T s MnO < MnO2 < Mn207 &

With increasing (+)ve oxidation state, acidity increases. Mn in Mn207 the oxidation state is +7
state, Mn in MnO the oxidation state is +2, The oxidation number of Mn in MnO?2 is +4.



